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Chapter: Alphabet Series

(M

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

master, ember, bombay, animal, abdomen, ?
Teh Ao T I &, [SIea Ueh ree; e g1 e arw
Taehodl 7 & ag HET Taehed YT St 3efshe T [ |
master, ember, bombay, animal, abdomen, ?
SCCGL-22AUG-S2:7

(@)

money

(b)

ambush

(©

deform

(d)

crime

)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

AbCdE, DeFgH, GhljK, JkLmN, ?

Teh 31eTshA 18T 1T &, TSl Ueh U ofed ¢ fqw arw
Taehodl 7 & T HET Taehed YT Sl 3Hefshe T QT A |
AbCdE, DeFgH, GhljK, JkLmN, ?

SCCGL-22AUG-S2: 8

(@)

OpQrs

(b)

NoPgR

(©

MnOpQ

(d)

LmNoP

3)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh JHoJshd foam aram &, forest v dean oo 81 few arw
faredt 3 & a5 weY fased IfAw S 3rgha 1 U |
4,52,64,7,88

SCCGL-22AUG-S2: 9

(@)

7

(b)

8

(@
76

(4)

In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

_Yyzaa_y _Xy _aazy _

e geaT & 31eRT &1 it T Fofg Wrell T T
AR TG Y & 978 37ET AW T I HM?
_Yyzaa_y _Xy _aazy _

SCCGL-08AUG-S2: 8

(@)

(b)

)

In the following question, select the missing number
from the given series.

et Ee woat & few 1T fashet # & oo 37 AT
EAIE I

19, 38, 7, 228, 684, 1368

SCCGL-08AUG-S2:9

(@)

108

(b)

113

(©

114

(d)

138

(6)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
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Teh 3eohd form I €, Tores & weh v e 81 fqw arw
faehedl 7 @ ag TEY fahed AT, SiY 3fefsha T T A |
A CEG,?

SCCGL-08AUG-S3 : 8

(a)

(7

In the following question, select the missing number
from the given series.

fAeATeTEe veat & fow 91T fashet # & oo 3ieh AT
EAIE I

2,4,13,41,106, ?

SCCGL-08AUG-S3 : 9

(@)

172

(b)

191

(©

219

(d)

232

)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
Teh 31T H ST I B, ot & Ua e oed 81 v arw
Taehotl 7 & a8 HEY faehed AT, Si 3Tegsha I U A |
KV, LU, MT, ?

SCCGL-10AUG-S1:8

(a)

NS

(b)

(O

(©

ou

d

SN

9

In the following question, select the missing number
from the given series.

fReATTEe veat # fow 91T fashedt & & oo 37 w1
EAIEN
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3,4,5,4,9, 10,6, 16, 15,9, 25, 20, 13, 36, ?
SCCGL-10AUG-S1:9

(a)

17

(b)

25

(@

28

(d)

31

(10)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

upset, aurora, spurn, strut, status, ?

Teh 3eTohd o aran B, Forea uah eree; e 81 R arw
faehedl 3 & a8 TEl faehed AT St 3efshel T [ A |
upset, aurora, spurn, strut, status, ?
SCCGL-21AUG-S3 : 7

©)

treasure

(b)

perfect

(©

right

(d)

unique

(m

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Te 3efshat foam aram €, forast vk ve oed §1 few arw
fredt & @ 98 TE TAshed IAT ST 31Tshal T |
LN QS V7

SCCGL-21AUG-S3:8

(@)

W

(b)

Y

(©

Z

X

(12)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.
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Teh 31eTsha T&T 1T &, TSrae Ueh T&m oo 81 few arw
fashedt 3 @ a5 we fashew gAT St 3resha & QU |
111,107.5, 104,72, 97,935

SCCGL-21AUG-S3 : 9

(@)

100

(b)

99.5

(©

100.5

(d)

99

(13)

In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

e woa 3 31aRT 1 hleT &1 Fofg Well T T
FHHAN T U & TS &R ST T G HI?

efg __eff _ghhe _eff _gggh_h
SCCGL-11AUG-S3: 8

()

eghhfe

(b)

ghhhh

(©

hegefh

(d)

hgefhe

(14)

In the following question, select the missing number
from the given series.

AT Ed ueat & few 91w fashedt & & ofed 3ieh AT
EAIE I

5, 13,40, 104, ?

SCCGL-11AUG-S3:9

(@)

229

(b)

239

(©

259

d

269

(15)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
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Teh 3eTohd o aran B, Fores & v v e 1 Rqw arw
faehedl 7t & a TEY fahed AT, S 3esha T QA |
AK12, GV29, LF18, PO?

SCCGL-05AUG-S3 : 8

(@

34

(b)

31

(©

42

(d)

40

(16)

In the following question, select the missing number
from the given series.

FATHEIT 9o 3 U 1T fehodt & & oot 37k AT
EAIE I

21,26, 33,42,53,7

SCCGL-05AUG-S3: 9

(@)

56

(b)

63

(©

66

(d)

69

a7

In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

fFafoTd 9ot & 31eRT &1 it |1 Fofg Wrell T T
AR TG Y & 978 37ET AW hT I HM?
Im_o_nm_|_n__nml

SCCGL-10AUG-S2: 8

(@)

molnon

(b)

nolmoo

(©

nomloo

(d)

noolmm

(18)

In the following question, select the missing number
from the given series.

feFATTEe weat # faw 1T fashet # & o 37 w1
EAIE I
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21, 25, 52, 68, 193, ?
SCCGL-10AUG-S2: 9
(a)

229

(b)

242

(@

257

(d)

409

(19)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh IHeohd form I B, T & v v e g1 R arw
faehodl 7 & ag TEY fahed AT, St 3efhe T Q|
BT, DR, FP, ?

SCCGL-10AUG-S3 : 8
(a)
HO

HN
@
NH
(d)
OH

(20)

In the following question, select the missing number
from the given series.

AT Ed geat & few 91w fashedt & & ofcd 3ieh AT
EAIE I

3,8,5,27,8,64,12,125,17,?
SCCGL-10AUG-S3:9

(@)

216

(b)

361

(©

625

d

441

21

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
Teh 3fegshat feam aram B, forast @ vah e e 81 few arw

Taehotl 7 & ag HEY faehed IiAT, Si 3Tegsha I U A |
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AEILM,?
SCCGL-12AUG-S3: 8
(a)

P

(b)

(22)
In the following question, select the missing number
from the given series.
e Ed woat & few 91e fashedt & & oo 3ieh AT
At
1,3,6,11,18,7
SCCGL-12AUG-S3:9
(@)
27
(b)
28
(©
29
(d)
31

(23)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

bat, thin, reply, length, ?

Tk 3eTsha form aram B, Foree ueh ereg; v €1 Rw arw
fredt & @ 98 TE TAshed IAT ST 31Tshal T |
bat, thin, reply, length, ?

SCCGL-17AUG-S1:7

(@)

terror

(b)

display

(©

dome

(d)

scolding

(24)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.
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Teh 3eohd form aram €, Tores wep v oo &1 few arw
faehedl 7 & ag TEY fashed AT Si 3efshet T Q|
AbC, dEfG, hijKl, MnOpQr, ?

SCCGL-17AUG-S1: 8

(@)

StUvWxY

(b)

StUvWx

(©

StUvWxYZ

(d)

sTuVwXy

(25)
A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.
Teh 3efha 18T 1T &, Toraet Ueh T&dm e ¢ few arw
faehodl 7 @ ag TEl faehed IIAT Si 3ehe T [ |
1,0.125, 1/27, 1/64,? , 1/216

SCCGL-17AUG-S1:9

()

0.025

(b)

1/8

(©

1/128

(d)

0.008

(26)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 3fegsha T aram ¥, forael @ veh e ofea 81 few arw
faehetl 7 @ ag TEY faehed IIAT, SiY 3Tegsha T [ A |
AG, LR, WC, HN, ?

SCCGL-09AUG-S1:8

(@)

Qy

(b)

RX

(©

SY

d

V4

(27)
In the following question, select the missing number
from the given series.
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et e goat & few 91w fashedt & & oo 3ieh AT
EAic

13,16, 11,18, 9, 20, ?

SCCGL-09AUG-S1: 9

(a)

3

(b)

5

(@

6
(d)
7

(28)

In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

T gt & 37&RT 7 et AT HHAG Wrell T
FHAN TG W &1 TS 37&T AT T I HM?
a_bc_a_ bcdabc _da_cd

SCCGL-09AUG-S2: 8

(@)
acbddb
(b)
adbcbd
(©
cabddc
(d)
ddcbbc

(29)

In the following question, select the missing number
from the given series.

et TEe weat & fow 91T fashet # & oo 37 AT
EAIE I

1357, 3085, 5282, 8026, ?

SCCGL-09AUG-S2 : 9

(@)

9961

(b)

10441

(©

11321

(d)

11401

(30)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 3eohd fem aram €, T & weh v e 81 fqw atw
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faehedl 7 @ ag TEY fahed AT, SiY 3fefsha T A A |
C11,V17,023,?
SCCGL-11AUG-S1: 8
(@)

H30

(b)

H31

(©

129

(d)

131

31

SCCGL-11AUG-S1:9
(a)

166

(b)

172

(@]

184

(d)

187

(32)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 31T 8T I &, Tt & Ua e oed ¢ v arw

fashedt & @ a5 |EY fasheq AT, S 31egshat T A
DK, FN, HQ, ?

SCCGL-11AUG-S2: 8
(a)
KS
(b)
T
(@]
KT
(d)
N

33)

In the following question, select the missing number
from the given series.

Ao 9ot & fev a1v faevedt & @ ofcd 37eh AT
HifT]

2,517,717

SCCGL-11AUG-S2:9

(@)
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131
(b)
247
(@]
359
(d)
419

(34)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 31T 18T I &, TS & Teh ve oo & few arw
faehodl 7 & ag HET Taehed YT, Si 3eshel T T A |
FK27, LQ64, RW125, ?

SCCGL-12AUG-S1:8

(@)

CX216

(b)

XB216

(©

XC216

(d)

YB343

(35)

In the following question, select the missing number
from the given series.

et e woat & few 91T fashet # & oo 3ieh AT
EAIE I

19,11,13,16, 15,17, 13,19, 21, ?
SCCGL-12AUG-S1:9

(@)

10

(b)

11

(©

12

(d)

15

(36)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Te 3feTshat fea aran 8, forest & van e oed 8| few are
Rrereat 3 & I T R aFAT, S 3T A AR
ACE, FHJ, KMO, ?

SCCGL-12AUG-S2: 8

(@)

QRS
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(b)
PRT
(@]
PRU
(d)
QRV

37)

In the following question, select the missing number
from the given series.

fReATe e weat & few 91T fashet # & oo 3ieh AT
EQIE I

9,18, 72, 576,7

SCCGL-12AUG-S2:9

(@)

8116

(b)

8216

(©

9016

(d)

9216

(38)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 3eIsha T IR &, TS | T v o & | few arw
Taehotl 7 & a8 HEY faehed AT, Si 3Tegsha I U A |
CEG, IKM, OQs, ?

SCCGL-09AUG-S3 : 8

(@)

Uwy

(b)

UyXx

()

uvy

(d)

TWY

39

In the following question, select the missing number
from the given series.

e @ Teat & few 91e fashedt & & oo 3ieh AT
EAIEN

7,19, 42,877

SCCGL-09AUG-S3: 9

(@)

136

(b)
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176
(@
172
(d)
216

(40)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

T 37eTsha T ara &, Forae veh e o §1 few ate
faeherdt & ag TeY fasheld AT, SiY 3feshel T A |
LOQ, SVX, ZCE, ?

SCCGL-16AUG-S1: 8

©)

GIL

(b)

GU

(©

GTL

(d)

JLG

(41)

In the following question, select the missing number
from the given series.

AT I TR # feT 71T fasholdl 7 & o9 37 AT
HIT|

13,27, 56,115, ?

SCCGL-16AUG-S1:9

(@)

224

(b)

231

(©

233

(d)

234

(42)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 31TehH T a1 B, Fored Uk ve i 81 v are
faererat 7 @ ag Tel fasherdr AT, St 3regshar S T
|

A CFHK?

SCCGL-16AUG-S2: 8

(@)

M

(b)

N
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43)

In the following question, select the missing number
from the given series.

AT R TRIET & feT 1T fashe(dl 7 & o9 37 AT
HrraT|

1,3,6,10, 15,7

SCCGL-16AUG-S2:9

(@)

20

(b)

21

(©

22

(d)

24

(44)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 3fefshat foam aram €, fSreet vk ve oud 81 few arw

faeherdt & & g8 TEl el AT, ST ieTshal I T A
AE NS W,?
SCCGL-16AUG-S3 : 8

(b)

(45)

In the following question, select the missing number
from the given series.

frrefaf@a gere # faw av faserdt 7 & oud 31 Ard
HifT]

3,7,16,35,?

SCCGL-16AUG-S3:9

(@)

73

(b)

74

(©

78

(d)
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82

(46)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

31eTshat f&am I B, Foreed veh eree o 81 few are
faeherdl # & a8 TEY fAsheld AT ST 1eTshat T QA |
isobar, artist, statute, teapot, otter, ?
SCCGL-17AUG-S2 : 7

(@)

pencil

(b)

erect

(©

tongue

(d)

meter

(47)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3ofsnd form aran g, foreal ueh ue qud g1 few are
Taehordl # & a8 HEI Taeheld AT ST 31eTshal 1 U |
XX, XOX, XXXX, XXOXX, XXXXXX, ?
SCCGL-17AUG-S2 : 8

(@)

XXXOXXXX

(b)

XXXOXXX

(©

XXXXXXX

(d)

XXXOXXXO

(48)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3HeTsha o aran g, foredt v dwan qua g1 v are
feherat 7 & & TEY Taehe IiAT St 31efshat &1 T A |
3,5/3,1/3,7,-7/3,-11/3

SCCGL-17AUG-S2:9

(@)

-2/3

(b)

-4/3

(©

-1

(d)

-2
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(49)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 31eTsha 18T I €, TS e Ueh U o €1 few atw
faererdt 3 @ 95 WeT fashelT IR S 3re7heT &1 QU |
Pension, Aptitude, Captain, Tropical, Survive, ?
SCCGL-17AUG-S3 :7

(@)

Parrot

(b)

Apply

(©

Trap

(d)

Tetrapod

(50)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eohd ferm a1 §, TS1eat e ue v ¢ few a1e
fasho(dl 7 & a8 HEI faehold YIAT ST Hefshat hl R Y|
DEC, HIG, LMK, PQO, TUS, ?

SCCGL-17AUG-S3 : 8

(@)

XYZ

(b)

WXY

(©

XYW

(d)

YZA

51

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eTsha T I &, T Ueh T U &1 few arw
faererdt 3 ¥ a5 WeY faehelT T ST 317 a &1 QU |
100, -20, 4, 7, 0.16, -0.032

SCCGL-17AUG-S3:9

(@)

0.8

(b)

1

(©

-1

-0.8
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(52)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3fefshal feam I &, foraat weh ree; oo & | ferw arw
faehotl & & ag HET Taehed YT Sl 3efha T T |
tub, size, latin, formal, ?

SCCGL-18AUG-S1:7

(@)

smooth

(b)

idle

(©

scramble

(d)

capital

(53)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

T 3Hofshd feam g, forea ue v oea & [l arw
Taehodl & & a HEl faehed YU Sil 3Hefshal i T Y |
YXWy, TSrQ, OnML, jIHG, EDCDb, ?
SCCGL-18AUG-S1:8

(a)

YxwV

(b)

ZyxW

(©

XwVU

(d)

YXWV

(54)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

U TR T R |, e v we ovd § | R e
faehodl & & a HET Taehed YT Sl Hefsha T U Y |
2,5,10,17,7?,37

SCCGL-18AUG-51:9

(@)

24

(b)

30

(©

32

(d)

26
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(55)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3fegsha feam aram §, fSraet vk eree; ofed 8] few arw
Rierost 3% & a5 w8 R gT |

yes, rain, alive, subtle, ?

SCCGL-18AUG-S2:7

(@)

airport

(b)

smoke

(©

inch

(d)

fabulous

(56)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 31T 16T a1 §, Foreat Uah ue o 8] few are
Taehotl 7 & ag TEY faehed TTeIT it 3Teshet ohi X1 o]
Abcd, ghlJ, Mnop, stUV, Yzab, ?
SCCGL-18AUG-S2: 8

(@)

efGH

(b)

Efgh

(©

cdEF

(d)

efCD

(57)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

T 3eTehat o aram §, Foreet e W ofed ) few ate
Taehotl 7 & a8 HEY faehed TIeT Si 3Teshel T O Y|
1,0.25,1/9,?,0.04, 1/36

SCCGL-18AUG-S2: 9

(@)

0.0625

(b)

0.025

(©

1/8

(d)

1/6
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(58)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3TeTeha 18T a1 B, Forerat weh ereg; et ] ferw are
Rreredt # & 9 T8 Reow g |

hello, lower, error, organ, tense, ?
SCCGL-18AUG-S3 : 7

(@)

night

(b)

rapture

(©

senile

(d)

watch

(59)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Ue 31T T8 a1 ¥, For Ue ug o g fw ate
Taehotl 7 @ ag HEl faehed iU Sit 3Teshel T O )
XXXOXXX, XXXXOXX, XXOXXXX, XXXXXOX, XOXXXXX,
?

SCCGL-18AUG-S3: 8

(@)

XXXXXXO

(b)

OXXXXXXO

(©

XXXOXXX

(d)

XXXXXX

(60)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 31T T aTT §, Tt uah wee ofed 8] forw arw
fasredt 3 @ a5 weY e IAT St 3rgshat &1 O Y|
3/5,14,11/5,?,19/5,4.6

SCCGL-18AUG-S3:9

(@)

14/5

(b)

3.2

(©

16/5

(d)

3
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(61)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3fegsha feam aram §, fSraet vk eree; ofed 8] few arw
Rierost 3% & a5 w8 R gT |

win, note, grain, broker, ?

SCCGL-19AUG-S1:7

(@)

refund

(b)

pony

(©

banking

(d)

mutually

(62)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 31T 16T a1 §, Foreat Uah ue o 8] few are
Taehotl 7 & ag TEY faehed TTeIT it 3Teshet ohi X1 o]
KIMnO, qRsTu, WxYzA, cDeFg, ?
SCCGL-19AUG-S1:8

(@)

iJkLm

(b)

HiJkL

(©

[jKIM

(d)

hljKI

(63)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

T 3eTehat o aram §, Foreet e W ofed ) few ate
Taehotl 7 & a8 HEY faehed TIeT Si 3Teshel T O Y|
0,387?,24,35

SCCGL-19AUG-S1:9

(@)

15

(b)

16

(©

18

(d)

9
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(64)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3TeTeha 18T a1 B, Forerat weh ereg; et ] ferw are
Rreredt # & 9 T8 Reow g |

cry, dome, super, random, ?

SCCGL-19AUG-S2: 7

(@)

reflex

(b)

done

(©

formula

(d)

classify

(65)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3TeTshA ST IAT &, TSI Ueh g, ofodl g fqw a1w
fashedt 3 ¥ a8 WeT faehoq IIT it J1eTha &7 U |
OXXXXX, XXXXO, OXXX, XXO, OX, ?
SCCGL-19AUG-S2: 8

(a)

X

(b)

X0

(©

00

(d)

o)

(66)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Te 31eTeha o aram &, Foreet e W ofed ) few atw
Taehodl 7 & ag HEY faehed TIAT Si 3eshet T O Y|
15,9/4,3,7,45,21/4

SCCGL-19AUG-S2: 9

(@)

15/4

(b)

7/2

(©

8

(d)

9
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(67)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eohd ferm a1 §, T1esl & v v e ®1 few are
Taehotl 7 & ag TEY faehed AT, Sit 3Tegsha I A |
employ, oyster, errors, ornate, tennis, ?
SCCGL-19AUG-S3 : 7

(@)

neptune

(b)

nature

(©

terminate

(d)

isomer

(68)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 31eTsha 18T I €, TS @ T ue oo | few arw
faredt 3 @ a5 wEY [ashed IfT, S 31Tt G |
XXXXXO, XXXXOX, XXXOXX, XXOXXX, XOXXXX, ?
SCCGL-19AUG-S3: 8

(@)

OXXXXX

(b)

OXXXXO

(©

OXXXOX

(d)

XXXXXX

(69)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eTsha T I &, T | U v oo & | few are
Taehotl 7 & ag HEY faehed AT, Si 3Tegsha I A |
-7/4,-1,-0.25,7, 5/4, 2

SCCGL-19AUG-S3: 9

(@)

0.5

(b)

0.75

(©

0.25

(d)

1
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(70)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eohd ferm aram §, Trest & v v e §1 fqu are
faehodl 7 & a HEI Taehed YT, Si 3eshet T T A |
Oxygen, Toil, Arouse, Arson, Tenuous, ?
SCCGL-20AUG-S1:7

(@)

Onion

(b)

Lustrous

(©

Lion

(d)

Onto

71

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eohd e a1 €, FSIest & v v ofed ¢ few arw
Taehodl & @ T HEl faehed iU, SiT 3efshet hT I A |
ZYX, VUT, QPO, MLK, HGF, ?

SCCGL-20AUG-S1:8

(a)

DCB

(b)

CBA

(©

BCD

(d)

EDC

(72)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eTsha T I &, TaH | U v o & | few arw
faehodl & & a HET Taehed YT, SiT 3efshet T O A |
400, -200, 100, ?, 25, -12.5

SCCGL-20AUG-S1:9

(@)

-50

(b)

50

(©

75

(d)

-75
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(73)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

nephew, anther, tenses, prunes, preens, ?

Teh 3TeTehd AT IR Y, TSI Ueh eree; o & | e arw
faehedl 7 & a TEY fahed AT Si 3eshet T Y |
SCCGL-20AUG-S2 : 7

(@)

teen

(b)

pester

(©

repent

(d)

return

(74)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eTohd ferm a1 §, FIe Ueh ve e & [flew 1w
faeredt 3 ¥ a5 wEY [ashed IfTT St 31eTshat T QU Y |
KJLILM,?

SCCGL-20AUG-S2: 8

(d)

(75)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

T JHegoha o ara &, ForEe v W ofed § [ e
faredt 3 @ a5 wEY fawed IfoT St 3rgshat T QU Y |
-4,7,1,35,6,85

SCCGL-20AUG-S2: 9

(@)

2

(b)

1.5

(©

-1.5
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(76)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series as per dictionary.

T 3eTsha form I ¥ | Fore weh eree; ofed & | R atw
Taehodl 7 & a TET faehed YT Si 3eshel T I
ASEHIY & 3TN |

?, Lifelike, Lifeline, Lifelong

SCCGL-21AUG-S1:7

(@)

Lifeless

(b)

Lifespan

(©

Lifelost

(d)

Lifework

(77)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 31T o AT ¢ | Toree vk o o ¢ | ferw arw
faehedt 3 @ a5 WeY [ashed IT S 31re7eha T QU Y |
B,CEHL?

SCCGL-21AUG-S1:8

(d)
P

(78)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

U e T ara ¥ | o ve Her e ¥ | e e
faehodl & @ 9 HET faehed YT Sl Hefsha T U Y |
-4,7,3,8, 14, 21

SCCGL-21AUG-51:9

(@)

0

(b)

1

(©
-2
(d)
-1
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(79

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eTshaA 18T I €, TS e & e v ofed &1 few arw
Taehotl 7 & ag TEY faehed AT, Sit 3Tegsha I A |
Laugh, Alter, Melts, Realm, Muesli, ?
SCCGL-21AUG-S2: 7

(@)

Missile

(b)

Shall

(©

Alien

(d)

Rifle

(80)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Ue 3fefsha T aran B, ora e @ ueh e ofed 81 few amw
faredt 3 @ a5 wEY [ashed IfT, S 31Tt G |
EHLOS?

SCCGL-21AUG-S2: 8

(d)

81

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eTsha T I &, T | U v oo & | few are
Taehotl 7 & ag HEY faehed AT, Si 3Tegsha I A |
99,90.7,82.4,7,65.8,57.5

SCCGL-21AUG-S2: 9

(@)

733

(b)

74.8

(©

75.2

(d)

74.1
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(82)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3fegsha feam aram §, forast weh eree; oo &1 few arw
faeherdl # & a5 G Rverd gfAw, St 3regswa QU a|
Good, Odour, Urban, Anthem, ?
SCCGL-22AUG-S1:7

(@)

Anthill

(b)

Empathy

(©

Europe

(d)

Goose

(83)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

DFE, HJI, LNM, PRQ, ?

Teh 3ofsnd form aran g, foreal ueh ue qud g1 few are
faeherdl # & 98 FEI faeheld YT, ST 31eTehal o1 A |
SCCGL-22AUG-S1:8

()

STU

(b)

TVU

(©

Uvw

(d)

RST

(84)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Te 3Tegeha T aram €, foreet v e i 81 few arw
faehordl # & a8 FEI faeheld YT, ST 31eTehal o1 A |
1/4, 0.65, ?, 29/20, 1.85

SCCGL-22AUG-S1:9

(@)

1.1

(b)

21/20

(©

19/20

(d)

1.2
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(85)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

nature, ensure, tense, spent, spurn, ?

Th Heohd form aram &, fores uah eree; U &1 fgw arw
faeherdt # & g8 TET fAsheld AT, ST 1eTshat T A
SCCGL-22AUG-S3 : 7

(@)

pushup

(b)

thrash

(©

upturn

(d)

asset

(86)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

RMIFD,?

Teh 31eTsha 18T I &, TS e Ueh U o 81 fGw arw
fasherdl # & a8 |el T IfAT, ST 31T i QU Y|
SCCGL-22AUG-S3 : 8

(C)

87)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Te 3TeTeha fem aram §, Foreet vk ve i 81 few arw
Taehord & & a8 HEI fdeheld GiAT, ST 31T & |
-0.5,-0.35, -0.2, -0.05, ?, 0.25
SCCGL-22AUG-S3:9

(@)

-0.1

(b)

0.1

(©

0.15

(d)

-0.15
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(88)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3fegsha feam aram §, forast weh eree; oo &1 few arw
faeherdl # & a5 G Rverd gfAw, St 3regswa QU a|
Shy, Food, Plate, Recess, ?

SCCGL-23AUG-S1:7

(@)

Monsoon

(b)

Soon

(©

Eat

(d)

Lunch

(89)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Te 3fegoha T a1 &, Foreet v e qud g1 few arw
Taehordl & & G¢ HEl faehold YA, ST 3efehel 1 U A |
XU, DXH, XL, XL HTEX, 2

SCCGL-23AUG-S1:8

(a)

X1

(b)

ninxi

(©

X

(d)

XIX

(90)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Te 3Tegeha T aram €, foreet v e i 81 few arw
faehordl # & a8 FEI faeheld YT, ST 31eTehal o1 A |
49, 64, 7, 100, 121

SCCGL-23AUG-S1:9

(@)

74

(b)

80

(©

75

(d)

81
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N

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Th Heohd form aram &, fores uah eree; U &1 fgw arw
fasherdl # & a8 | s IfAT, St 3refsha A QU |
Never, Under, Manly, Sauna, Train, ?
SCCGL-23AUG-S2:7

(@)

Night

(b)

Terminal

(©

Cancer

(d)

Anoint

(92)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eTsha &1 I &, THHA Ueh Ue U &l few arw
Taehordl & & g8 HEI faeheld YT, ST 31eTehel T Y|
ABC, DEF, HIJ, MNO, STU, ?

SCCGL-23AUG-S2: 8

(@)

XYZ

(b)

YZA

(©

ZAB

(d)

ABC

93)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eTsha T I &, T Ueh Ue o &1 few arw
Taehordl # & g8 HET faeheld GiAT, ST 31eTshal & |
-7.5, 15, -30, 60, ? , 240

SCCGL-23AUG-S2:9

(@)

120

(b)

-240

(©

-120

(d)

240
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(94)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3fegsha feam aram §, forast weh eree; oo &1 few arw
faeherdl # & a5 G Rverd gfAw, St 3regswa QU a|
rupees, arena, pursue, spare, separate, ?
SCCGL-23AUG-S3 : 7

(@)

rapid

(b)

pusher

(©

person

(d)

super

(95)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3Heohd e 1T €, FoIeat Ueh v o 81 few 1w
Taehordl & & G¢ HEl faehold YA, ST 3efehel 1 U A |
UTROK?

SCCGL-23AUG-S3: 8

(a)

G

(b)

H

(©

E

(d)

F

(96)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Te 3Tegeha T aram €, foreet v e i 81 few arw
faehordl # & a8 FEI faeheld YT, ST 31eTehal o1 A |
-7.25,-5.75,-4.25, -2.75, 7, 0.25
SCCGL-23AUG-S3:9

(@)

1.25

(b)

-1.25

(©

15

(d)

-15
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(97)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh JHefsha fom aran 8, foredt veph ue qua g1 R are
faehordl & & g8 FET fdeheld YiAT, ST 31eTshal 1 G |
BCF, CDG, DEH, ?

SCCGL-05AUG-S1:8

(@)

EFI

(b)

EFG

(©

DFI

(d)

EGI

(98)

In the following question, select the missing number
from the given series.

e g # T a7 fasheldl & & g9 375 AT
EQIE I

2,512,277

SCCGL-05AUG-S1:9

()

53

(b)

56

()

57

(d)

58

(99)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3Hefsha form aran €, Forea weh eree; U §1 few arw
faeherdl & & g€ FET fdeheld AT, ST 31eTshal T A |
Smart, Aspire, Castle, Abysmal, Accost, ?
SCCGL-06AUG-S1:7

(@)

Shop

(b)

Class

(©

Show man

(d)

Duties

(100)
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A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eTohd feram arm €, Foreat weh v o ¢ fw arw
faehordl & & g8 FET faeheld YT, ST 31eTehal o A
BCD, EFG, IJK, NOP, TUV ?

SCCGL-06AUG-S1:8

(@)

YZz

(b)

77B

(©

BCD

(d)

ABC

(101)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eIsha f&dT I &, TS e Ueh U o &1 few arw
faeherdl # & g€ FEl fAeheld AT, ST 3efshel T T A |
0.05,-0.1,?,-04, 0.8

SCCGL-06AUG-S1:9

(@)

-0.2

(b)

0.25

(©

-0.25

(d)

0.2

(102)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 3eTsha 8T I &, TS e Ueh U o €1 few atw
feherdt & & a8 TEI faheld AT, ST 3eTehal S R A |
PNR, RQV, TTZ, ?, XZH

SCCGL-06AUG-S1:19

(@)

VWB

(b)

UXC

(©

VWD

(d)

UXE

(103)
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In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

AT 920t # 38T &7 et |1 g Wrell qU=AT
TR ShATR TG W &Y IS &R Al T G HIMM?
a_caab_a_bcaab_a_b_a
SCCGL-06AUG-S1 : 23

(@)

cbacba

(b)

bcacac

(©

acbaca

(d)

bbacaa

(104)

In the following question, select the missing number
from the given series.

TR TR & fev 1T fashe(@l 7 & of9d 37 A
EAIE I

9,10, 13,22,49,7?

SCCGL-06AUG-S1: 24

()

117

(b)

126

()

115

(d)

130

(105)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3HeTsha o aran €, Fore uah eree; U §1 few arw
faeherdl & & g€ FET fdeheld AT, ST 31eTshal T A |
Queen, Aqua, Pique, Torque, Antique, ?
SCCGL-06AUG-S3 : 7

(@)

Squad

(b)

Quadri lateral

(©

Prerequisite

d

Queue

(106)
A series is given, with one term missing. Choose the
correct alternative from the given ones that will
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complete the series.

Teh 3eTohe form aran €, foret weh ve o g1 R arw
faeherdt & & 98 TE fAsheld AT, ST Jefshal T R A
F,I,M, P, T?

SCCGL-06AUG-S3 : 8

(@)

W

(b)

X

(©
Y

(d)
z

(107)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Teh 3eTsha 8T I &, TS e Ueh ug o 81 few atw
faeherdl # @ 98 FEl fAsheld AT, ST 31Tshal I U A
SCCGL-06AUG-S3: 9

(@)

59.4

(b)

60.4

(©

59.3

(d)

60.3

(108)

In the following question, by using which
mathematical operators will the expression become
correct?

afaf@a v #.few arv R[ereat & @ forer ifordir
Highar3it &1 G2 S & T I FHEeRoT FE &Y
SITaaT?

27?797?2187247?12

SCCGL-06AUG-S3 : 18

(a)

+, +,=and +

(b)

+, X, <and +

(@]

+, X, >and +

(d)

+,+,=and +

(109)
In the following question, select the missing number
from the given series.

freefaf@a gee # faw av fderdt 7 & o 31 w1d
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Fifaw]

28, 30, 36, 48, ?, 98, 140
SCCGL-06AUG-S3 : 23
(a)

68

(b)

65

(0

72

(d)

67

(110

In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

AAATATET IR0 A &R 7 et /T Fog Wrell U
TR FHHAR T U & TS 38T AW G0 HM?
a_caab _a bcaab_a _b_a
SCCGL-06AUG-S3 : 25

(@)

cbacba

(b)

bcacac

(©

acbaca

(d)

bbacaa

(111)

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

Teh 3eTsha T I &, T H | T v oo & | few are
Taehotl 7 & a8 HEY faehed AT, Si 3Tegsha I U A |
QP ON,?

SCCGL-08AUG-S1:8

(a)

M

(b)

L

(©

o

d

J

112

(In tf)1e following question, select the missing number
from the given series.
AT 9ot & fev a1v faehedt & @ ofcd 37eh AT
HifT]

6,9, 15, 24,39,63,7
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SCCGL-08AUG-S1:9
(a)

97

(b)

115

(@]

102

(d)

124

(113)

A series is given, with one word missing. Choose the
correct alternative from the given ones that will
complete the series.

Teh 3eTohe o aran €, Foreat weh eree; v €1 few arw
Taeherdl 7 & a8 FeI faehord fAT, St 3iefhe l WA |
Money, Amity, Camera, Animal, Telomere, ?
SCCGL-20AUG-S3 : 7

(a)

Talisman

(b)

Litmus

(©

Matter

(d)

Shame

(114)

A series is given, with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

Te 3Tegehat T aram ¢, Toreet o ve ud 81 few arw
Taehordl # & 98 HEI faeheld YT, ST 31eTehal ol U A |
CDE, IHG, KLM, QPO, STU, ?

SCCGL-20AUG-S3 : 8

(@)

YXW

(b)

YXW

(©

XYW

(d)

XWY

(115)

A series is given, with one number missing. Choose
the correct alternative from the given ones that will
complete the series.

Te 3TeTeha T aram €, Foreet vk e i 81 few are
faehordl 7 & a5 |e Rsad 9T, St 37w i U
6, 18, 54, 7, 486, 1458
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SCCGL-20AUG-S3:9
(a)

164

(b)

160

(@]

168

(d)

162

Solution

M
First letter = M (master)
Sencond letter = M (ember)
Third letter = M (Bombay)
Fourth letter = M (animal)
Fifth letter = M (abdomen)
Sixth letter = M (deform)

4+12=52

52+12=64
64+12=76
76+ 12=288

)

19 x 2 =38
38x3=114
114 x 2 =228
228 x 3 = 684
684 x 2 = 1368
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2 4 13 41 106 2

2 9 28 65 126

7 19 37 61

18

9)

there are 3 series-

(i) 3-4-6-9-13= +1,+2,+3,+4

(i) 2:=4, 3:=9, 4:=16, 5:=25, 62=36 square series
(iii) 5-10-15-20-25 = +5 gap series

(10)
Here place of ‘U’ alphabet is increasing by one so
treasure will be the answer.

(m
Here we have add the series of 2 and 3 in the given
series.so,V+2=X.

(12)
Here, difference is 3.5 so 104-3.5=100.5.

(13)
efg h/ e eff g ghhe/ e eff f gggh h h

(14)

5 104

5:=125

13 229

(15)
AK12=1+11=12

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On

2



Daily Visit: ExamsCart.com

GV29=7+22=29
LF18=12+6=18
PO _=16+15 = 31

21 (+5) — 26
26 (+7) — 33
33 (+9) — 42
42 (+11) — 53
53 (+13) - 66

(18)

Free Study Material Join: Telegram.me/ExamsCart

r

B
=+

]

(26)
Al+11
G|+11

27)
13-2=11-2=9-2=7
16+2=18+2=20

Difference between two numbers is in the format 28)

4,27,16,125,36,
22, 35, 4, 5, 62
Hence next number is 193 + 36 = 229

(19)
Difference of +2

(20)

Two Series

1,3,5,8,12,17 (Difference of 1,2,3,4,5)
2:,3:,4:,5%,6°

(21)
A+4=E+4=|+4=M+4=Q (Ans)

(22)

(Addition of Prime Number)
1(+2) =3

3(+3)=6

6 (+5)=11

11 (+7) =18

18 (+11) =29

(23)

Bat —3
Thin —4
reply—5
length—6
Display—7

(24)

AbC—3
dEfG—4
hljKl—5
MnOpQr—6
StUvWxY—7

(25)

aabcd/abbcd/abccd/abcdd

(29)

1357, 3085, 5282,

+1728 +2197 +2744

v v v

12° 13° 14’

30
'(I'W()) Series one with difference with -6
2+ is a series of prime no with one gap
11
13
17
19
23
29
31

(32)
Difference of +3 and +2

(33)
2x2+1=5
5x3+2=17
17x4+3=71
71x5+4=359

(34)

F L X
K Q C
64(42) 216(62)
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(35)

Three Series

19,16,13,10 (Difference of -3)
11,15,19 (Difference of +4)
13,17,21 (Difference of +4)

(36)
A+2=C+2=E+1=F+2=H+2=J+1=K

(37
9x2=18x4=72x8=576x16=9216

(38)
+6 Series

(39)
7x2+5=19
19x2+4=42
42 x 2 +3 =87
87 x2+2=176

(40)
+7 Series

(41
13x2+1=27
27x2+2=56
56x2+3=115
115x2+4=234

(42)
Series of +2,+3

(43)
Series of +2,+3,+4,+5,+6

(46)
isobar, artist, statute, teapot, otter, erect

47)

O comes as the middle value in the terms whenever
the term has odd number of characters. The number
of X in a term is also equal to the number of X in the
previous term.

Hence option b is the answer.

(48)
Difference is -4/3
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(49)

Pension, Aptitude, Captain, Tropical, Shotput,
Tetrapod

Position of P increment by 1

(50)
+1,+2 Series

(51
Divide by -5

(52)
Tub-3
Size-4
Latin-5
Formal-6
capital -7

(53)
-5 series with the position of small letter shifts to its
left in every next word

(54)
2+(3)=5
5+(5)=10
10+(7)=17
17+(9)=26
26+(11)=37

(55)
Number of letters 3,4,5,6,7

(56)
Capitalisation for first and then last two
Series is of +3

hello, lower, error, originate, tense

(59)

The position of “O" changes alternatively to left and
right from the centre.

So a is the next term

(60)
+4 series

61
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Number of letters are 3,4,5,6,7

(62)
alternative capital letter,+2 series

(63)
Difference of 3,5,7,9,11

(64)
Number of letter increased by 1

(66)
Difference of +0.75

(67)
employ, oyster, error, ornate, tennis, isomer

(69)
Difference of +0.75

(70)
Position of O Shift Right

(71)
Difference of -4-,4,-4 and -5,-5,-5

(72)
Multiply by (-0.5)

(73)
Position of n change in incremental order by +1

(74)

Two Series
K,LLM

JLH

(75)
Series +2.5

(76)
Arranged According to Dictionary

(77)
+1,+2,+3,+4,+5

(78)
-4+3=-1
-1+4=3
3+5=8
5+6=14
14+7=21

(79)
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Laugh, ALter, MeLts, ReaLm, MuesLi

(80)
+3 Series

8m
-8.3 Series

(82)
Good, Odour, Urban, Anthem, Empathy
Last two character

(83)
+4 Series

(84)
+0.40 Series

(85)
Position of n
nature, ensure, tense, spent, spurn, upturn

(86)
-5,-4,-3,-2,-1 series

(87)
Difference of +0.15

(103)
abcaabcaabcaabcaabca

(113)

The first 2 terms are made of 5 letters and next 2
terms are made of 6 letters so next two terms are
made of 8 letters.

Therefore Talisman is the next term.

Answer Key

1 [C2 |C[3

6 7 8

11 [D[12 |C|13

16 |C[17 |B|18

21 |B22 |C|23

26 |C|27 |D|28

31 [A[32 [B[33

36 |B|37 [D|38

41 |Dl42 |Al43

46 (B|47 |B(48

51 |D|52 [D|53

56 |A|57 [A[58

N[> |O[W|([O[®[> [0 [®][N[0|®
NirPo(m[>[Oo[m[Oo[An[m[A]O
>nwnw>nww>n>2
NP> |IO(OIA|®IN[O(>P|R|>P(W[N
Qo> 0w (P(m/O/>P|®W[>[N

61 |Cl62 |C|63
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